Lidingod FLP
Barometer bla grupp 2022-02-22

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 20 304 70.37  Olle Robin - Peter Gavatin 12496 1634  Lidingd BK - Lidingd FLP
2 10 270 62.50 Ake Otterstrém - Paulina Sundin 1957 54971  Lidingd BK - Liding6é FLP
3 12 268 62.04 Eva Gombirii - Stig Lindberg 13648 36070 Lidingd FLP
4 18 257 59.49 Eva Elfgren - Margareta Holm 86131 1950  Lidingd BK
5 16 246 56.94 Dag Elmér - Ulla Andersson 87314 56852 BK S:t Erik
6 17 232 53.70  Marianne Gloudemans - Christine Persson 13037 81059 Lidingd BK
7 14 229 53.01 Neta Falk - Kerstin Dahlquist 62304 53235 Lidingd FLP
8 6 228 52.78 Margareta Lindesvard - Gunilla Lindesvard 24859 26196 Lidingd BK
9 13 220 50.93 Inge Nord - Lars Nord 55756 66408 Lidingd BK - BK S:t Erik
10 11 217 50.23  Birgitta Andersson - Maud Gall 2095 47773  Lidingd BK - Lidingd FLP
11 15 212 49.07  Anders Ekengren - Bo Engdahl 48446 58886  Lidingd FLP - Lidingd BK
12 9 209 48.38  Claes Nordmark - Hans Lofgren 33201 46070 Lidingd BK
13 1 208 48.15  Ethel Sabelstrdm - Géran Redebring 47840 5243  Lidingd FLP
14 3 199 46.06  Ingun Bostrom - Britt Fahlbeck 87909 57320 BK S:tErik - Lidingd FLP
15 2 195 45.14  Jerzy Holtz - Jérgen L66v 16705 2341  Lidingd FLP - Lidingd BK
15 4 195 45.14  Solveig Hansson - Ingrid Logren 53234 79813 Lidingd FLP
17 8 180 41.67  Erik Norman - Britta Ekstrom 20925 54734  Lidingo FLP
18 5 163 37.73  Inger Olsson - Barry Olivefeldt 9182 66903 BK S:t Erik - Lidingé FLP
19 19 153 35.42  Bjorn Westergren - Per Holmquist 52740 64188 Lidingd FLP
20 7 135 31.25 Karl-Erik Elfgren - Anne Salén 28423 47841 Lidingd BK - Lidingd FLP
1 4873 2 4 E109 3 & Kn7 4 4 K103
Nord vE6 Ost vD1082 Syd v 6542 Vast vK8
Ingen + EKn105 NS + EKn9 oV + E10852 Alla ¢ DKn942
#KKn32 #754 &K7 #1063
4EK54  aKn 4 D5 4 Kn6é 4 KD9653 4 E1042 4D764 #4E9
vK10873 v DKn952 YEKKNn7 - v3 vKD10 v7643 952
+ D84 463 4543 +D108762 +K4 + Kn976 ¢+ K7 + 10863
+10 #D7654 #EKDKn #109863 #EKN65 #D8 2975  #EKDKn2
4 D10962 & K87432 48 4 Kn852
v4 v 96543 v EKn987 v EDKn109
+ K972 +K +D3 ¢E5
#E98 *2 #109432 *84
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
20 10 24 S+1 140 180 00|15 5 4vDN= 790 180 0012 2 64V-1 100 180 00| 312 2vS= 110 17.0 1.0
12 2 4¢ N= 130 150 3.0/ 919 34S= 140 160 20| 111 44 V= -620 100 8.0|15 6 2¢vS= 110 170 1.0
16 6 4¢ N= 130 150 3.0/ 111 44V-2 100 120 6.0| 4 14 44 V= -620 10.0 8.0| 8 17 INN= 90 14.0 4.0
919 2¢ N= 90 120 6.0 313 3NV-2 100 120 6.0( 8 18 44 V= -620 10.0 8.0|16 7 1lv S= 80 120 6.0
818 4v V-1 50 8.0 10.0(17 7 3NV-2 100 120 6.0|15 5 44 V= -620 10.0 8.0| 120 2v S-1 -100 8.0 10.0
15 5 4v0O-1 50 8.0 10.0(16 6 2NV-1 50 8.0 10.0|16 6 44 V= -620 10.0 8.0| 413 2v S-1 -100 8.0 10.0
17 7 4v V-1 50 8.0 10.0(12 2 44 S-1 -100 6.0 12.0|17 7 44 V= -620 10.0 8.0| 918 2v S-1 -100 8.0 10.0
313 44DS-1 -100 4.0 140| 414 2NV = -120 4.0 14.0|20 10 44 V= -620 100 80|11 2 3#0O+1 -130 2.0 16.0
111 3vV= -140 2.0 16.0| 818 1#V+3 -130 2.0 16.0| 313 44 V+1l -650 1017014 5 3#0+1 -130 2.0 16.0
4 14 3NN-3 -150 0.0 18.0|20 10 3¢ O+2 -150 0.0 180| 919 44 V+1 -650 1.0 17.0(19 10 24 O+2 -130 2.0 16.0
5 & K83 6 » EK9864 7 a5 8 49
Nord v DKn93 Ost v- Syd vE976 Vast v 653
NS ¢ Kn732 oV ¢ E42 Alla + D954 Ingen 498432
«D2 #DKn109 #KD54 #Kn1094
4E1074 492 4105 4 DKn72 4 E108642 #KD973 4D1083 4742
vE542 vK76 v K32 v E10984 v 103 v54 vKn87  vEK9
¢ 64 ¢ ED5 ¢ DKn10753 ¢ - ¢ EK +76 ¢ EKKn7 ¢ D65
#Knl109 &EK853 *K3 #E876 #632 #Kn987 «D8 #7632
4 DKn65 43 4 Kn 4 EKKn65
v 108 v DKn765 v KDKn82 vD1042
+ K1098 + K986 + Kn10832 +10
*764 #542 #E10 #EK5
Par  Kontr Res  Poéang Par  Kontr Res  Poéang Par  Kontr Res  Poéang Par  Kontr Res  Poéang
918 2v V= -110 17.0 10|16 7 24 N+1 140 180 00| 119 4¢vS= 620 130 5020 2 4¢DV-3 500 180 0.0
16 7 34 V= -110 17.0 10| 312 24 N= 110 140 40| 311 4¢vS= 620 130 5014 6 4¢ V-4 200 160 20
312 24 0+3 -150 14.0 40| 413 24 N= 110 140 40|13 5 4vS= 620 13.0 50| 311 3NO-3 150 13.0 5.0
15 6 2NO+2 -180 120 6.0|14 5 24 N= 110 140 40|15 7 4vS= 620 130 50(13 5 3¢ V-3 150 130 50
413 3NO+1 -430 6.0 12.0|11 2 34 N-1 -50 10.0 8018 10 4v S= 620 13.0 50| 119 24 S= 110 10.0 8.0
817 3NO+1 -430 6.0 12.0| 817 3aDN-1 -100 7.0 11.0|20 2 4vS= 620 13.0 50| 816 INO-1 50 8.0 10.0
11 2 3NO+1 -430 6.0 12.0|19 10 34 N-2 -100 7.0 11.0| 8 16 44 V-2 200 6.0 12.0| 9 17 2NS-1 -50 4.0 140
14 5 3NO+1 -430 6.0 12.0| 120 34 N-3 -150 3.0 15.0(14 6 3v S+1 170 40 140|115 7 24 S-1 -50 4.0 14.0
1910 BNO+1 -430 6.0 12.0| 9 18 34 N-3 -150 3.0 15.0| 917 5v S-1 -100 2.0 16.0|18 10 24 S-1 -50 4.0 140
120 3NV+2 -460 0.0 18015 6 44DN-2 -300 0.0 180 412 34 V= -140 0.0 180| 412 INO= -90 0.0 18.0
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9 & 654 10 & Kn53 11 87 12 » E52
Nord v K987 Ost vED32 Syd vD Vast v Kn109853
ov 495 Alla + 8754 Ingen + 874 NS +52
#K965 »107 #EKn107643 #83
21082 4ED73 « EK4 « D108 4 E52 4 KKn964 49 « Kn8763
vED2 v Kn1054 vKnl04 v 9865 v765 v10942 vKD4 vE7
¢ E1082 ¢ D43 ¢ E106 ¢ DKn32 ¢ E532 ¢ D96 ¢ EDKN10986 ¢ K3
#E103 #74 D532 &EK 2985 &K #Kn2 K974
& KKn9 49762 4 D103 & KD104
v 63 v K7 v EKKn83 v 62
+ KKn76 + K9 ¢ KKn10 ¢ 74
#DKn82 #Kn9864 D2 #ED1065
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
412 INV-2 200 170 10|14 7 3NVv-1 100 180 0.0| 916 3NN+2 460 17.0 10| 118 2¢ V+2 -130 140 4.0
15 7 INV-2 200 170 10| 411 INV+3 -180 16.0 20|14 7 3NS+2 460 170 10|12 5 2¢ V+2 -130 140 4.0
119 24 O-1 100 120 60| 815 2NV+3 -210 140 40| 411 3NS+1 430 130 50|13 6 3¢ V+1 -130 140 4.0
816 INV-1 100 120 6.0 916 3NO= -600 9.0 90|12 5 3NS+1 430 130 50|14 7 3¢ V+1 -130 14.0 4.0
20 2 INV-1 100 120 6.0(12 5 3NO= -600 9.0 9.0|19 2 3vS+1 170 100 80|19 2 3¢ V+1 -130 140 4.0
917 1vO= -80 7.011.0(13 6 3NO= -600 9.0 90| 815 INS+1 120 8.0 100| 916 3NO+1 -430 7.0 11.0
13 5 1vO= -80 7.0 11.0|17 10 3NO = 600 9.0 90| 118 2¢vS= 110 6.0 12.0|17 10 3NO+1 -430 7.0 11.0
18 10 INV = 90 4.0 140|118 3NV+1l -630 2.0 16.0(13 6 24 O-1 50 4.0 140| 320 3NO+2 -460 2.0 16.0
311 2v0O= -110 1.017.0| 320 3NV+1 -630 20 16.0(17 10 5% N-1 -50 2016.0| 411 3NO+2 -460 2.0 16.0
14 6 29 0= -110 1.017.0(19 2 3NO+1 -630 20 16.0| 320 2NS-2 -100 0.0 18.0| 815 3NO+2 -460 2.0 16.0
13 « KD104 14 «D4 15 « D753 16 & DKn32
Nord v 8762 Ost v10 Syd v EK1085 Vast v 104
Alla 92 Ingen + D985 NS +D ov ¢ DKn102
#KD3 #E108543 #K108 #D53
45 a72 « K8653 & EKn1097 4Knl08 &K « EK10874 4965
vEDKNn1094 vK5 v32 v EKKn8 vD643 vKn972 vE872 v DKn95
+54 ¢+ EKDKN763 ¢+ E10 ¢+ KKn76 ¢ 10654 ¢ K98732 +8 4954
£#E965 #102 &Kn962 - &Kn2 *76 *62 #E109
» EKn9863 a2 « E£9642 .-
v3 v D97654 v- v K63
+ 108 4432 + EKn + EK763
#Kn874 #KD7 #ED9543 #KKn874
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
18 2 7NDO-61700 180 0.0| 319 34 O+3 -230 180 0012 6 64 S= 1430 180 00(20 5 5¢ S= 400 18.0 0.0
319 34S= 140 160 20| 117 44 O+3 -510 100 8.0| 117 54 S+1 680 100 80|12 7 3¢ N+2 150 16.0 2.0
915 4v V-1 100 140 40| 420 44 O+3 -510 100 8.0| 420 44 S+2 680 100 80| 914 3¢ S+1 130 12.0 6.0
16 10 4¢ V+3 -190 120 6.0| 8 14 44 O+3 -510 100 80| 8 14 44 S+2 680 100 8011 6 3¢ S+1 130 120 6.0
11 5 5¢ O+1 -620 100 8.0| 915 44 O+3 -510 100 8011 5 44 S+2 680 10.0 80|15 10 4¢ S= 130 120 6.0
420 4vV+2 -680 6.0 12.0|11 5 44 O+3 -510 10.0 8.0(13 7 44 S+2 680 100 80| 419 3«#S= 110 8.0 10.0
814 4vV+2 -680 6.0120(12 6 44 O+3 -510 10.0 8.0|16 10 44 S+2 680 10.0 8.0(17 2 44 V-1 100 6.0 12.0
12 6 4vV+2 -680 6.012.0|13 7 44 O+3 -510 100 8018 2 44 S+2 680 10.0 80| 116 34 V= -140 2.0 16.0
117 4vV+3 -710 1017016 10 64 O+1 -1010 1.0 17.0| 3 19 44 S+1 650 2.0 16.0| 318 34 V= -140 2.0 16.0
13 7 4vV+3 -710 1.0 17.0|18 2 64 O+1 -1010 10 17.0| 915 74 S-2 -200 0.0 18.0| 8 13 34 V= -140 2.0 16.0
17 & DKn975 18 « EKD96 19 sE 20 82
Nord vD3 Ost v 105 Syd v KDKn7432 Vast v 9864
Ingen + D953 NS + 1065 (6)) + DKn75 Alla + EKn82
D2 #EG5 &D K94
a4 4« E103 753 108 4 Kn6432 «D8 497 « ED1043
v Kn10942 v EK765 vKDKn7432 vE9 vE v 109 vEK10 v2
¢- ¢E742 + Kn73 ¢ ED982 + K82 ¢ E643 ¢ K954 ¢ D1073
#EKKN10654 &7 &- #KD73 210843 #EKn952 #E862 #Knl07
& K862 & Kn42 & K10975 & KKn65
v8 v 86 v 865 v DKn753
¢ KKn1086 ¢+ K4 ¢ 109 ¢+6
#983 #Kn109842 *K76 #D53
Par  Kontr Res Poéng Par  Kontr Res Poéng Par  Kontr Res Poéng Par  Kontr Res Poéng
20 5 2¢vO0+5 -260 180 0.0(12 7 4vDV-1 100 180 00| 115 4vN= 420 160 20| 115 3NV-2 200 170 1.0
318 4vO+3 -510 11.0 7.0|17 2 5v V-1 50 16.0 2.0| 913 4v N= 420 16.0 20(20 6 3¢ O-2 200 170 1.0
419 4v O+3 -510 11.0 7.0| 419 24 N-1 -100 140 40|11 7 4vN= 420 160 20| 913 2vS= 110 140 4.0
914 4v O+3 -510 11.0 70| 8 13 2¢ O+1 -110 120 6.0| 8 12 3v N= 140 90 90| 317 3¢ O-1 100 120 6.0
11 6 4vO+3 -510 11.0 7.0|20 5 3¢ O+2 -150 10.0 8.0(14 10 3v N= 140 9.0 90| 418 2¢ V= -90 10.0 8.0
12 7 49 O0+3 -510 110 70| 116 2vV+2 -170 7.0 11.0(16 2 3v N= 140 90 90|11 7 2¢vS-1 -100 8.0 10.0
17 2 49 O+3 -510 11.0 7.0| 318 3vV+1l -170 7.0 11.0(19 5 3v N= 140 90 90| 812 24 O= -110 4.0 14.0
116 6y O+1 -1010 20 16.0| 9 14 4v V= -420 2.0 16.0| 3 17 4v N-1 -50 2.0 16.0|14 10 2¢ V+1  -110 4.0 14.0
813 6v O+1 -1010 2.0 16.0(11 6 4v V= -420 2.0 16.0| 4 18 4v N-1 50 2016019 5 3¢ V= -110 4.0 14.0
15 10 6v O+1 -1010 2.0 16.0|15 10 4v O= -420 2.0 16.0|20 6 4v N-1 50 2016016 2 24 O+1 -140 0.0 18.0
21 & K632 22 « D975 23 & Kn6 24 & KKn76
Nord v DKn94 Ost v EK2 Syd v EK1062 Vast v DKn864
NS + EKD oV + Kn9632 Alla + EKn6 Ingen ¢+ D43
94 »6 £K106 *6
4E854 49 4E10832 4 KKn6 4 K10942 45 « D83 4 E105
vE2 v K103 v8 vDKn763 v 87 vKn94 v10952 v3
49764 ¢ Kn52 ¢+ E8 ¢+ KD * K7 498542 +Knl095 +¢6
#Kn102 #D87653 #KDKn107 #E53 #ED82 *Kn743 KD #EKN1087542
 DKn107 a4 « ED873 & 942
v 8765 v 10954 v D53 v EK7
41083 + 10754 + D103 + EK872
&EK #0842 #95 #93
Par  Kontr Res  Poang Par  Kontr Res  Poéang Par  Kontr Res  Poéang Par  Kontr Res  Poéang
115 3NN+1 630 170 10| 417 6NO-2 200 170 1015 2 4vN+1 650 180 0.0|18 5 2v S+1 140 180 0.0
317 3NN+1 630 170 10(20 7 4v V-2 200 170 10| 912 4¢N= 620 160 2020 7 3¢ S+1 130 16.0 2.0
418 4v N-1 -100 7.0 110|118 5 44 O= -620 14.0 40|18 5 2¢ N+3 200 140 40| 114 440-1 50 13.0 5.0
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8 12 3NN-1 -100 7.0110| 114 3NO+1 -630 9.0 9.0| 114 2NS+2 180 120 6.0|15 2 440-1 50

913 44 S-1 -100 7.0110| 811 3NO+1 -630 9.0 9.0| 316 2v N+2 170 7.0 11.0| 316 3v N-1 -50
11 7 4v N-1 -100 7.0 1110|1310 3NO+1 -630 9.0 9.0| 811 3v S+1 170 7.0 11.0| 4 17 5¢ S-2 -100
14 10 3NN-1 -100 7.0110(19 6 3NV+1l -630 9.0 9.0|13 10 3v S+1 170 7.0 110| 8 11 3« O+1 -130
16 2 4v N-1 -100 7.0 11.0| 316 54 O= -650 2.0 16.0|20 7 2v N+2 170 7.0 11.0|13 10 4+ O = -130
19 5 44 S-1 -100 7.0110| 912 44 O+1 -650 2.0 16.0| 417 2¢v N= 110 2.016.0| 9 12 5vDN-2 -300
20 6 3NN-1 -100 7.0 110|115 2 44 V+1 -650 20 16.0(19 6 3v N-1 -100 0.0 18.0|19 6 5# 0= -400
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